H & 0l & AHS B Ml A

A SR
Mo 20| EMBEY
el J=MeEs8d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 55,351,591 48,197,369 7,104,222
= 39,795,728
[ 660,972
= 6,796,494
Al 8,008,397
=D ZdE2E 45,738,854 39,565,553 6,173,301
= 39,380,728
[ 503,600
= 3,557,509
Al 2,297,017
=g 44,176,559 38,019,226 6,157,333
= 38,015,919
= 485,600
= 3,502,158
Al 2,172,882
FHU S8 Mg X2 222,360 0 222,360
== 111,180
Al 111,180
201 2= 65,000 0 65,000
[ 32,500
Al 32,500
01 At2t2ltl 65,000 0 65,000
Os=LiE=S A2l
65,000,000 65,000
= 32,500
Al 32,500
307 @120l & 157,360 0 157,360
s 78,680
Al 78,680
11 ARRIS XA E X 157,360 0 157,360
OFFUSS MR (34E)
157,360,000 157,360
< 78,680
Al 78,680
LaESAMEIA X2 57,142 0 57,142
= 40,000
< 8,571
Al 8,571
307 glztol & 57,142 0 57,142
= 40,000
== 8,571
Al 8,571
11 AMRISXAEEES 57,142 0 57,142




SN SX™Y
HY: 20| ZMBIE
&l JZMEEHE (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OYASZAHIA(162) 57,142,0002 57,142
= 40,000
[ 8,571
Al 8,571
ADLE AtSIAHIA Al A 108,000 0 108,000
= 75,600
[ 16,200
Al 16,200
307 QI2H0| & 108,000 0 108,000
= 75,600
= 16,200
Al 16,200
TN NEEES 108,000 0 108,000
OADIE AFBIAHIA Al AR (100)
108,000,000 108,000
2 75,600
= 16,200
Al 16,200
XNETESE AMSIMHIA EXAIS (X)) (ME) (XISALS] 504,286 504,286 0
NBIAEXEARS)
= 353,000
= 75,643
Al 75,643
307 I2H01 & 504,286 504,286 0
7 353,000
= 75,643
Al 75,643
11 Bl Z XA X 504,286 504,286 0
OXIS AR MHIA S XA (567H)
504,286,000 504,286
7 353,000
= 75,643
Al 75,643
XAXSS AtSIABIA FOER| X 24,286 0 24,286
7 17,000
= 3,643
Al 3,643
307 IRH0I & 24,286 0 24,286
) 17,000
= 3,643
Al 3,643
TN INCEES 24,286 0 24,286
OXIG RIS A AHIA FOHX] X
24,286,002 24,286
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el
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=8|

JI=

1
A EHH A
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ut
o
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‘Lo

I pp

£A

CFB GBI - MRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Al

16,800

61,763

55,203

6,560

>
ﬂ
M
an
=
[

61,763

55,203

6,560

O

E K
o 0
n =
@ [
- =2
_h g
L
08 I

61,763,000

61,763
61,763

55,203

6,560

4,350

4,350

4,350

4,350

O
@
L
ﬂE
10
i
e =
ol

4,350,000

4,350
4,350

4,350

hoH

=

1,688,649
1,350,919
168,865
168,865

1,414,000

274,649

noH

1,688,649
1,350,919
168,865
168,865

1,414,000

274,649

1,688,649

1,688,649
1,350,919
168,865
168,865

1,414,000

274,649

477,400
238,700
238,700

360,000

117,400

H

Al

477,400
238,700
238,700

360,000

117,400

477,400,000

in

477,400

477,400
238,700
238,700

360,000

117,400

Mo

=

11,762,223
10,586,000
823,35
352,867

1,387,777

374,446

Mo

11,395,703
10,256,132
797,699
341,872

10,881,662

514,041

11,395,703

10,881,662

514,041




A SXNEH
Mo 20| EMBEY
el J=MeEs8d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFHS 0 (4,649AITH) 11,395,703,000& 11,395,703
= 10,256,132
== 797,699
Al 341,872
403 X SHHMSAH=01H 366,520 506,115 139,595
= 329,868
== 25,657
Al 10,995
02 S 2SS0t et =& 2 €A H| 366,520 506,115 139,595
OS2 XS0 (45AHTH) 366,520,000 366,520
= 329,868
=S 25,657
Al 10,995
FHS XS 500 500
202 04| 500 500
01 =LHO LI 500 500
OZNEX L SXXE 2 BHEA
500,000 500
GERR - FYE x2S HWEOL X 30,000 30,000
301 LEtE N = 30,000 30,000
02 A2 HSGS(FHAAHS, NSWE) 30,000 30,000
OVERT - Fd BN 25= WEOIA A
o 1,000,000 «30& 30,000
HEFA Al SEXHA 230,000 0 230,000
= 115,000
= 34,500
Al 80,500
301 EtE2 NS 230,000 0 230,000
= 115,000
= 34,500
Al 80,500
01 Al EE A S (2 DEXR) 230,000 0 230,000
OFEEAN etAl SEEXZE
230,000,000 230,000
= 115,000
= 34,500
Al 80,500
HAESE get2s 258 NE 25,000 10,200 14,800
= 12,500
= 3,750
Al 8,750
301 EtE N = 25,000 10,200 14,800
= 12,500




A SXNEH
Mo 20| EMBEY
el J=MeEs8d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,750
Al 8,750
01 A2 EH 2GS (RNEETHE) 25,000 10,200 14,800
ORNESE3 252 X
300,000 +83.333A 25,000
= 12,500
< 3,750
Al 8,750
FHFAAHE F=HLERE 50,000 70,000 220,000
= 25,000
[ 10,000
Al 15,000
101 @124H| 13,484 21,960 A8,476
= 6,741
== 2,697
Al 4,046
M ORNZZ2NSE S 13,484 21,960 A8,476
OFNHEXSSA(1Y) 13,484
-Jl==g 1,472,440 x1&+8E 11,780
= 5,890
== 2,3%
Al 3,534
IR RBENSL
56,2002 x1H+7 3%
= 197
S 79
Al 118
SUHRE ARERED
163,6603 12 +83 1,310
= 654
< 262
Al 3%
201 Ler23| 10,016 15,700 Ab,684
= 5,009
[ 2,003
Al 3,004
01 At2t2ltl 8,576 11,240 A2,664
Oxgant € E283 MH, A28 78 S
8,576,000 8,576
= 4,289
< 1,715
Al 2,572
02 S5=2g4l 1,240 1,260 V()




2A: SXEA
B 20| EMBIE
&l JZMEEHE (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXERA & AHAAE AEZ
1,240,000 1,240
= 620
= 248
Al 372
03 A2 b 200 3,200 A3,000
OBHAST DS X 2E3
200,000 200
= 100
= 40
Al 60
301 LPBNSZ 26,500 30,740 AN4,240
= 13,250
= 5,300
Al 7,950
01 A B&XSHZ2(2REETA) 26,500 30,740 A4,240
OF(MEB)XH, HEXXH, SHAIS
26,500,000 26,500
= 13,250
= 5,300
Al 7,950
FHFHAAHES OIAtHl K& 10,000 12,000 A2,000
= 5,000
= 1,500
Al 3,500
301 LetENEZ 10,000 12,000 A2,000
= 5,000
= 1,500
Al 3,500
01 A 2&HSEZ(FREETR) 10,000 12,000 22,000
OFHHAALAHS OIAEIXIA
400,000& *25H 10,000
= 5,000
& 1,500
Al 3,500
ZOHQl =84 D= 15,200 19,000 A3,800
= 7,600
Al 7,600
402 QI2ER=01 N 15,200 19,000 A3,800
= 7,600
Al 7,600
02 QIZEXHE2 A 2 Z (01 TH &) 15,200 19,000 A3,800
OZOHQ! ==& JH= 3,800,000 x4 15,200
= 7,600




A SXNEH
Mo 20| EMBEY
ERl: JIEZMEEE EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 7,600
S 2] AHF=H 108,700 106,300 2,400
201 et 3| 5,500 3,100 2,400
01 At22t2l] 5,500 3,100 2,400
OsIHa 2 B2 & MRES 7Y
5,500,000& 5,500
301 LEtE NS 103,200 103,200
02 A2 XS (FAAS, NLHA) 44,000 44,000
OYE ABIZTAL L Sl 2
20,0002 *1,100*23] 44,000
4Bt 2as 59,200 59,200 0
O=SXHAXH B (et XIg)
80,0002/ %5024 128 48,000
OMASS 7 0lAK 2
700,000& * 162 11,200
A AL 1,562,295 1,546,327 15,968
= 1,364,809
= 18,000
= 55,351
Al 124,135
AE22, NS & FHNEHEHESE 977,778 900,938 76,840
= 830,000
= 29,333
Al 68,445
101 @12A4H| 977,778 900,938 76,840
= 880,000
= 29,333
Al 68,445
M IIRIMZZENSES 977,778 900,938 76,840
OXE 22 A (82Y) 977,778,000& 977,778
= 880,000
< 29,333
Al 68,445
ArE3XEs N2 5,000 0 5,000
= 4,500
< 150
Al 350
301 EtE NS 5,000 0 5,000
= 4,500
== 150
Al 350
01 Al 2E A S(SRNEXMHE) 5,000 0 5,000
Q12122 S 243X K (8H)
5,000,000& 5,000




2A:

E M

=X Z D
20| ZMEHE

el XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,500
=S 150
Al 350
MASFHAAHES MM (ZN0IAIY) 20,000 18,250 1,750
< 6,000
Al 14,000
307 lztol & 20,000 18,250 1,750
= 6,000
Al 14,000
11 AMEISXAIEEES 20,000 18,250 1,750
OZI0I Mgl XIR(3B)
20,000,000 20,000
= 6,000
Al 14,000
NasSs dedis 22 125 125 0
201 2= 125 125
01 AtR2t2lt] 125 125
O U XD} SR
25,0008 521 125
Xl&ﬂﬂ%;@i ALBIMHIA SXIARY (2 2) (M E) (OrARHS 25,714 28,469 £2,755
N !
[ 18,000
= 3,857
Al 3,857
307 elztol & 25,714 28,469 N2,755
= 18,000
[ 3,857
Al 3,857
11 AMEISXAEEES 25,714 28,469 N2,755
OIAIZHY e TR (52)
25,714,000 25,714
= 18,000
< 3,857
Al 3,857
2 sHJY=FS NS (FLSE) 57,441 47,670 9.7
= 51,696
== 1,724
Al 4,021
301 22N = 57,441 47,670 9,77
= 51,696
=S 1,724
Al 4,021
01 Al 2E A S(FRDEXMA) 57,441 47,670 9.7
O3 M=A =zt (2F) 3,565,000& 3,555
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X XH -
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=X1F 20}
20| ZMEHE
H
=

Cl: KHEHAL T (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,19
=S 107
Al 249
O3 M=HZHI (83H) 53,886,000 53,886
= 48,497
= 1,617
Al 3,772
2essJsrSMdE-2S N (HESE) 476,237 475,997 240
= 428,613
= 14,287
Al 33,337
301 EetE NS 476,237 475,997 240
= 428,613
= 14,287
Al 33,337
01 Al EE A S (2 RDEXMR) 476,237 475,997 240
OFHULM=AR S(3108)
476,237,000 476,237
= 428,613
= 14,287
Al 33,337
222 2,983,9%% 2,584,319 399,636
< 415,502
Al 2,568,453
S 2 2,983,955 2,584,319 399,636
= 415,502
Al 2,568,453
2EHH 22 2,168,455 1,872,550 295,905
201 er2 3| 30,000 30,000 0
03 A= SHI 30,000 30,000 0
OZL&(8s) A 29 & X2
30,000,000 30,000
301 22N = 2,077,900 1,775,900 302,000
03 A 2H A4S (XL THH) 2,060,700 1,751,500 299,200
OMAS EE2UAL AZS (4, =4)
100,000 x50 & +22] 10,000
OSERSA /= AZ2361E, &52)
200, 0003 «20H <23 8,000
O==g8l+< 1,320,000
-65Al Ol& 22THa AL
100,000 *1,000 122 1,200,000
-65All OIBH 22 CHARL
50,0003 200 « 122 120,000
06.25 BH7SN+E 637,200
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A SAE M
Hu: DE)
ol 22EH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e EEES[EN=
86,3202 x1H 6 518
201 er2 3| 41,132 39,132 2,000
01 AtR2te|HI 15,732 15,732 0
oxdJetdzZelid 24
110,000~ 128 1,320
ORIZHIANAE EH
300,000& 122 3,600
Osd)| et 2| 89
170,000& * 12 2,040
OF+IILX2(3)
57,000 »3CH =122 2,052
OAZAIE otd2e| U
1,720,000& 1,720
OAld 22l8s +¢ 5,000,000& 5,000
2 =523l 25,400 23,400 2,000
Odotree=s 100,000& * 122 1,200
(OFSPIETE= 1,550,000& «12& 18,600
Od==Al2ell 5,000,000 5,000
Ostes 50,000& * 122 600
SIEE & 88X AEFHI 61,500 61,500 0
201 fer23y| 1,500 1,500
02 S3=gHl 1,500 1,500
Os &g, 84| JIi2s &JIes=s
1,500,000& 1,500
401 AIEHIZ SR 0HYI 60,000 60,000
01 Al&HI 60,000 60,000
O8sE, adl AIZE 60,000
A, 22 26,000,000 26,000
-8, M=E, &34 34,000,000& 34,000
6.2 873tz A& 24,840 24,840 0
307 @120l & 24,840 24,840
03 PIAHHEE 22X 24,840 24,840
O6. 2588 =3 1tel 2
24,840,000 24,840
FEEE L3 X2 25,730 25,730
307 elztol & 25,730 25,730
03 2IIHHEHE2SHIEx 25,730 25,730
OZgdadts 2E X
25,730,000& 25,730
o283 A& 27,710 27,710
307 gl2to| & 27,710 27,710
03 PIZAHHNEE 22X 27,710 27,710
Oodolzds 2EX&E 27,710,000& 27,710
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A SXNEH
Hu: DE)
&el: S22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 AL 2 EH 263 (XL E) 1,200 1,200 0
O5. 1821 =R/ 31X MEXE 2E2+2(19)
1,200,000 1,200
= 1,200
KNS SXIHH = 6,287,440 5,681,148 606,292
= 415,000
s 60,000
== 2,763,703
Al 3,048,737
NSGAtel X018 = 3,712,653 3,049,115 663,538
= 10,000
[ 60,000
= 766,962
Al 2,875,691
KNSARI =X & A2 210,056 168,112 41,944
201 Ler23| 14,156 14,112 44
01 At2teltl 11,036 10,112 924
OF=D & BI1EF)| 2Rz 1,440
-gJ| gXz 50,000 *1CH* 12 600
-=JIEEI &
35,000 =20 =122 840
OXIGMIETAY 222 MA (B2 S)
50,0002 *227H 1,100
OMEEHMHIA EES FU (B2 S)
50,0002 x9IH*43 1,800
OSXIIE g2=
3,000,000 3,000
OAZ=Red HHEE2(EASXIZ0H)
30,8003 %120 3,69%6
02 S3=gHl 3,120 4,000 A880
O=EXE 72l 3,000,000& 3,000
Odi=es M &5 2= 120,000 120
203 gF=4| 19,500 7,000 12,500
03 A=A 2= 19,500 7,000 12,500
O= ARFAUHSFAY
13,000,000 13,000
OSNUTHI AMEHADEA|
6,500,000& 6,500
301 2N = 176,400 147,000 29,400
0 M=SRRELEYS 176,400 147,000 29,400
OABI SRR (BASXIZ0F) SAHI
7,0003x1208 210! 176,400
NSARI2EEAN 24 64,000 64,500 A500
201 er23 | 64,000 64,000 0
01 At2teltl 64,000 64,000 0
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PSR
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SINESES I}
KNAAMSISXHAH =
XS ALel |X01gH 2=

SA - B BRA(SH) - LA - BES of v e HIDE2
O= NGAI2HEAN /3 dd+<
30,0002 x1602 %102 48,000
OXGAI2HE AN ?& HH+=E
100,000 x40 *43] 16,000
NSARIEZE A 213 3,000 3,000 0
201 2= 3,000 3,000
03 A2 I 3,000 3,000
OXN A2 2SN Ht2dd) 2113
3,000,000& 3,000
NSA 2SN Setdat 10,000 10,000 0
201 Ler=23 | 7,000 10,000 A3,000
03 A= SHI 7,000 10,000 A3,000
OXNGA 2 ZE M A W=
7,000,000 7,000
301 EtE NS 3,000 3,000
11 AALAHIXIES 3,000 3,000
ONAMEIBHE AN Azdst D (22|
wEH 8) 3,000,000& 3,000
Al NISARI 2SN 283 X2 A 154,000 144,900 9,100
= 15,000
Al 139,000
307 el2tol & 154,000 144,900 9,100
= 15,000
Al 139,000
10 AlISXAEEE 22X 125,000 118,900 6,100
OXSA2ZE M 232
125,000,000 125,000
== 12,000
Al 113,000
11 AMEISXAEEE 29,000 26,000 3,000
ORI ASI S BB ORI AT
29,000,000& 29,000
= 3,000
Al 26,000
SHE NGA2HEoAM 2483 X2 24,000 24,000 0
== 2,400
Al 21,600
201 =3 19,200 24,000 4,800
< 2,400
Al 16,800
01 At22t2lt] 8,000 8,000 0
O NSAI2HEoN 243t K&
1,000,000 +80H = 8,000
= 2,400
Al 5,600




2A:

SINESES I}

g NGAMASXHA &E
=Rl XFALel SXD1eE 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 11,200 16,000 /4,800
OXNGAI2ZHE +8 &8s WS
70,0003 +20E+801 = 11,200
301 EtE2 NS 4,800 4,800
11 #AIAHIXIZ = 4,800 4,800
OXNSAIREEHE 8 St Us
30,0002 «20+8 = 4,800
AMZARIEXE 23 A EXEEHHZ S 50,000 42,000 8,000
< 15,000
Al 35,000
307 glztol & 50,000 42,000 8,000
= 15,000
Al 35,000
10 Al SXAAEEHE2EHI2x 50,000 42,000 8,000
OMBEXE2AS 2 (10HA)
50,000,000 50,000
=S 15,000
Al 35,000
A= A2 &AL X 3,000 3,000 0
307 212+01& 3,000 3,000
11 AMEISXAEEES 3,000 3,000
OAMEI=EXIe & J|EdA X3
3,000,000& 3,000
ARIS XIS AL 2201 OHe 45,000 47,000 22,000
201 er23| 11,000 17,000 26,000
01 AtR2t2|HI 3,000 5,000 /2,000
OAtISAgfEgsRE alcldEtl N3
1,000,000 1,000
OAIZTIAL S2 MRMEREe A =
g 100,000 x10E <22] 2,000
03 Ar=EHI 8,000 12,000 /4,000
OAtISIIA & SEdat 1S
8,000,000& 8,000
301 EtE2 NS 34,000 30,000 4,000
08 212+91=2| 44| 30,000 30,000 0
OARISXIAIZS AL =2 J8X SHWS
2,000,0002 *15H 30,000
11 AALEEIXIE S 4,000 0 4,000
OAIZISXIAL & AE2s (S, 1S
bl S) 4,000,000 4,000
AMEBISXAIE SAL 2+uSH X 23,688 23,352 336
= 12,012
Al 11,676
301 EtE2 NS 23,688 23,352 336
=S 12,012




2A:

SINESES I}

g NGAMASXHA &E
&2lr XIGAtel SXD(1E 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 11,676
02 A EEHS(FIANE, XLTHE) 23,688 0 23,688
OAMBIEXIA B0 X (417F)
56,0003 4174 23,352
== 11,676
Al 11,676
OAIZIS XA E=n=Hl X2 (68, & 2F)
56,0002 62 336
= 336
AMEIZXIAIE SAHL o2&l X 12,930 12,870 60
S 6,495
Al 6,435
301 LEtE NS 12,930 12,870 60
= 6,495
Al 6,435
02 AR 2HASFS(HAAS, XNLHE) 12,930 0 12,930
OAZISXIAL Ao 2 &I X124 (1,287F)
10,0003 %1,287& 12,870
s 6,435
Al 6,435
OALSISXIAL Ao 28| X6, & =E)
10,000 +6& 60
= 60
ZII= KSAR 2EEZAL K& 19,980 0 19,980
< 5,994
Al 13,986
307 elztol & 19,980 0 19,980
= 5,994
Al 13,986
11 MEISXAEEXS 19,980 0 19,980
OBl NSAI2ZAE KSAR SE A
19,980,000 19,980
= 5,994
Al 13,986
dEzZ M FoH =24 3,460 3,460
201 =3 1,000 1,000
01 AtR2t2lt] 1,000 1,000
Os=2= & &+ A 1,000,000 1,000
301 EtE NS 2,460 2,460
11 dAMEEIXIE S 1,500 1,500
OFMH f3s 75,0002 x 10 *23] 1,500
14 DBt 2 a3 960 960 0
OFH 39 HAH
10,0002 8+ 123] 960




2A:

SINESES I}

g NGAMASXHA &E
=Rl XFALel SXD1eE 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A |24S 956,000 962,000 26,000
= 669,200
Al 286,800
201 er2 3| 3,080 0 3,080
= 2,1%
Al 924
01 AtR2t2|HI 1,000 0 1,000
OHUIIZAS B2 #49 HE
50,000& *5IH*4=2 7| 1,000
== 700
Al 300
2 352484l 2,080 0 2,080
Ogetue *B L&(e0esH)
6503 *800L 4= | 2,080
= 1,456
Al 624
301 EetE NS 952,920 962,000 /9,080
== 667,044
Al 285,876
02 ARSI E2E A S(FANS, XLETHE) 952,920 962,000 29,080
OFEHII=2AS(93E) 952,920,000 952,920
< 667,044
Al 285,876
Mol RS ALY XI& 240 240 0
201 LBzl 240 240
2 s5=34l 240 240
OMoi =SS IAIAE S| SR
20,0002 x 122 240
SHHIICH IOt K& 49,009 0 49,009
201 et 3| 2,137 2,137
01 At22t2l] 2,137 2,137
O3t XIE At 2
2,137,000& 2,137
301 EtE NS 13,272 13,272
14 IIEt2 83 13,272 13,272
OZAl H=E= g K&
158, 0003 *7 2 %120+ 13,272
302 OI==H o2 &= 33,600 33,600
02 QI SRS 242 33,600 33,600
Ozte & 22zl X&
1,000,0002 *12& 12,000
OdlelXI& x=dl X2
1,000,000& 12 12,000
OA®IZ=3 800,000 * 12 9,600




2A:

X XH -
o=

SINESES I}
XS AR SXIMAH =t

=els XSEAel SX018 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANEISRHMET K (HEAY) 1,842,068 1,293,301 548,767
301 LEtE N = 1,842,068 1,293,301 548,767
10 AR=R22as 1,842,068 1,293,301 548,767
OAZ =R (L2H=XZ0F) 21A48[(120F)
1,200,000 x120E = 122 1,728,000
OMIERQYU(EASXZ0H) wnSHI(1209)
3,000& 120 x248L! 89,280
OMNEI=SR(BA=XI20H) 1I=H(802)
309,840 x80H 24,788
fOI0I= &= K& 43,430 39,450 3,980
= 13,029
Al 30,401
301 EtE NS 43,430 39,450 3,980
= 13,029
Al 30,401
14 0Bt 2a3 43,430 39,450 3,980
O=RDI0I= &2 X2 (93BY)
43,430,000 43,430
[ 13,029
Al 30,401
DA G & ZEMA 2= ALY 20,000 0 20,000
= 10,000
[ 6,000
Al 4,000
201 el 5,700 0 5,700
= 2,850
s 1,710
Al 1,140
01 At2t2l] 2,000 0 2,000
O1NSAH MY 82 2,000,000 2,000
= 1,000
= 600
Al 400
03 A2 I 3,700 0 3,700
OAME A 242 g4 X3
3,700,000 3,700
= 1,850
=S 1,110
Al 740
301 2eEN= 14,300 0 14,300
= 7,150
=S 4,290
Al 2,860
01 Al EE AL S(FREXH) 13,000 0 13,000




2A:

SINESES I}

g NGAMASXHA &E
&2lr XIGAtel SXD(1E 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O EIX| & 3,000,000& 3,000
= 1,500
== 900
Al 600
OMEDINHXIA 10,000,000& 10,000
= 5,000
== 3,000
Al 2,000
11 dALEEIXIE S 300 0 300
OARIH 2042 g4 XI&
300,000 300
= 150
[ 0
Al 60
14 IIEt2 83 1,000 0 1,000
OetR&IX| & 1,000,000 1,000
= 500
< 300
Al 200
SNSI| LEAHIA 7,400 7,400
201 er23| 7,400 7,400
01 At2teltl 2,000 2,000
OSAAZNUE= 82= M
500,000 42| 2,000
02 S3=gHl 5,400 0 5,400
O=sXSI| €5 23 450,000 122 5,400
SE At 22 2N 8,800 8,800
201 Ler23 | 7,600 7,600
01 At2t2lt] 7,600 7,600
OSEAd 2l 42X gzt s
1,040,000 %53 5,200
O2g=hye?dzl g4+
100,000& 4 & +53] 2,000
O2UENA 2= M
50,000&+804 = 400
202 04l 1,200 1,200
01 SLHoIH 1,200 1,200
OAtellzte] dR+=01tI(8)
1,200,000 1,200
ANZ2T SEAE2el X 10,000 10,000 0
[ 5,000
= 750
Al 4,250
201 er2&| 3,000 3,000 0




2A:

X XH -
o=

SINESES I}
XS AR SXIMAH =t

=els XSEAel SX018 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500
=S 225
Al 1,275
01 AtR2t2|HI 3,000 3,000 0
OAtdil2te] AtR2t2(| 3,000,000& 3,000
[ 1,500
= 225
Al 1,275
301 LEtE NS 7,000 7,000 0
[ 3,500
= 525
Al 2,975
01 Al EE A S (2 RDEXA) 7,000 7,000 0
OAtdii2tel AFE | 7,000,000 7,000
[ 3,500
= 525
Al 2,975
SHES XEE SEAMHA NEH 78,572 78,930 A358
[ 55,000
= 3,536
Al 20,036
201 er2 3| 39,286 39,464 AT78
= 27,500
< 1,768
Al 10,018
01 Al22t2lH] 39,286 39,464 A1T8
OSeIS Aldizel AS22IHIEH )
39,286,000& 39,286
= 27,500
[ 1,768
Al 10,018
301 LEtE NS 39,286 39,466 A180
= 27,500
[ 1,768
Al 10,018
01 Al EEATZ2(ZDEZME) 30,286 39,466 A180
OSHs AtellZel ArHI(8H =)
39,286,000 39,286
= 27,500
< 1,768
Al 10,018
fetEsSdE 29 10,000 10,000 0
= 5,000




D 2N
C NGASIS XA &

O NGAE SX018F 2= (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 5,000
201 B2 AY| 10,000 10,000 0
T 5,000
Al 5,000
01 A=R2teld| 7,000 7,000 0
OSSEZMUE M2zl
7,000,000& 7,000
= 3,500
Al 3,500
02 33=24H| 3,000 3,000 0
Ofst=34H 2322l
3,000,000& 3,000
T 1,500
Al 1,500
GEECE MY 29 37,820 35,000 2,820
= 11,346
Al 26,474
307 212+01 A 37,820 35,000 2,820
& 11,346
Al 26,474
10 Al =S XA EEHER2IHIE X 37,820 35,000 2,820
OG-REEY A2 37,820
-2CUIOIH 1A8I(1Y)
36,320,000 36,320
& 10,8%
Al 25,424
GFEECE(EEH]) 1,500,000& 1,500
T 450
Al 1,050
AL ZEWT T2AOIRAME M) 25,000 25,000 0
307 212+01™ 25,000 25,000
10 Al =S XA EBEE2IHIE X 25,000 25,000
OFEYW3 AIEXIA 10,600,000 10,600
OFEYT oAyl RIH
1,200,000&x1Z* 123 14,400
A2 ZEEYWT SAL HHMA 1,200 1,200 0
& 1,200
301 LB F 1,200 1,200 0
T 1,200
03 MBI B & A6 Z2 (XY THA) 1,200 1,200 0
OFC W SARF H2IM4H((2Y)
50,0003 «2Z =123 1,200
T 1,200
=0 SXXIA 2,574,787 2,632,033 A57,246




2A:

E M

SINESES I}
KNAAMSISXHAH =

Eelr =0l SXAIA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 405,000
=S 1,99, 741
Al 173,046
=04 50| 450,000 550,000 100,000
= 405,000
= 31,500
Al 13,500
307 gl2to| & 450,000 550,000 100,000
= 405,000
= 31,500
Al 13,500
11 AMEISXAEEXS 450,000 550,000 100,000
OLHQTEAL IS0
450,000,000 450,000
= 405,000
= 31,500
Al 13,500
C=0AE 2EH(=NUTHEQAALXR) (HEALY) 1,886,707 1,810,432 76,275
= 1,886,707
307 glztol & 1,886,707 1,810,432 76,275
= 1,886,707
10 MEISXAIEHE2EHIEX 1,886,707 1,810,432 76,275
CROIHEAIE 2SHI(1H4)
1,886,707,000 1,886,707
[ 1,886,707
C=0IAE XEH(==HEQAAILXIR) 95,100 96,903 1,803
== 28,530
Al 66,570
307 212+01& 95,100 96,903 A1,803
[ 28,530
Al 66,570
11 AIBI =AY X 9,100 9,908 A1,808
OwSOITHEAIS KIRHI(17H4)
95,100,000 95,100
= 28,530
Al 66,570
=0 THEAIE SAHA S+224E X2 87,480 88,680 A1,200
s 26,244
Al 61,236
301 EtE NS 87,480 88,680 1,200
S 26,244
Al 61,236
03 MBI B & =6IZ2(RILTHE) 87,480 88,680 A1,200




2A:

E M

SINESES I}
KNAAMSISXHAH =

el =0 EXXA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OL-2OTBAIE EAK S42248 12
BI(1OHA, 259) 87,480,000& 87,480
= 26,244
Al 61,236
=0 THEAIE SAEL H<SIHEH NI 15,600 15,600 0
== 15,600
301 EtE N = 15,600 15,600 0
= 15,600
03 AR EE A =6lI= (KILTHR) 15,600 15,600 0
LU BN HPHH R
) 15,600,000 15,600
= 15,600
LU AFZXAH gl X3 27,200 9,600 17,600
[ 8,160
Al 19,040
301 EtEE S 27,200 9,600 17,600
= 8,160
Al 19,040
14 IIEt2 83 27,200 9,600 17,600
Oget 210 AFZXH Zeallbl XI&(199)
27,200,000 27,200
= 8,160
Al 19,040
LoD AR Zefidl =0 XA (KA 10,000 2,000 8,000
301 22N 10,000 2,000 8,000
14 JIEt2 8= 10,000 2,000 8,000
ORHL AMYX Hedl =It X2
10,000,000 10,000
At 25 2,700 3,900 21,200
201 er2&| 600 600 0
01 At2teltl 600 600 0
OL=0l 9 - ElAANSIRE Fang
100,000 *3& »23] 600
301 2N = 2,100 3,300 1,200
14 0Bt 2as 2,100 3,300 21,200
Ogieietlt 2=y 300,000 3 900
OdlA Xt SAI=EHl & A0t
100,000& « 12& 1,200
FfHsS Moty X2 17,300 17,300 0
FHUAAS 42ty N 17,300 17,300 0
Al BHEHLESD] AFE KT 17,300 17,300 0
307 212+01& 17,300 17,300 0
02 B AAHE L 17,300 17,300 0




2A:

S| &2}
AH
[

M ForE MEBOIE K@
Eel: FHYAHS dgotd Xd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAtE2l BHatLEs=D| A X1
17,300,000& 17,300
AH2LIHI(SXEFHD) 324,042 349,049 N25,007
= 97,372
= 59,780
Al 166,890
Jl2Zdel(SXE ) 31,740 27,816 3,924
Jl2ZH(SXE ) 31,740 27,816 3,924
201 fer=3| 23,380 20,156 3,224
01 AtR2tc|Hl 23,080 20,000 3,080
OF NS AR 22/ 19,000,000& 19,000
OgAr Xt& X222l 4,080,000 4,080
2 35234l 300 156 144
OSJIRd g&Rs 25,0003~ 122 300
202 04dl 2,500 2,500
01 2L AL 2,500 2,500
OJl=gR2=+80iHI(269)
2,500,000& 2,500
203 gF=4| 5,160 5,160
EPEET I EES I 5,160 5,160
ORNSYYDEXYI(3H)
430,000 123 5,160
405 AtatE = 700 700
01 AL =S F = 700 700
oWz (1) 700,000 700
IH2AH(SXE L) 292,302 321,233 N\28,931
[ 97,372
= 59,780
Al 135,150
SIS0 2elAL 12H] X 77,000 73,698 3,302
[ 61,600
== 10,780
Al 4,620
101 @124H| 61,152 59,952 1,200
= 48,922
[ 8,561
Al 3,669
03 SR (RINHA) 222+ 61,152 59,952 1,200
o220 2elAr eI2id] X1 (2%) 61,152
-JI2S(BAEXE, 458/125S)
2,350,000 «2H* 122 56,400
= 45,120
& 7,8%




SH: =NEMY
M HYRAZH(SXFHL)
CHel: QIAR2AH|(SXIF D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,384
-AZERlAEH(22ASNI3, UBE/125S)
16,5003 x2& * 12A1 2H= 123 4,752
= 3,802
= 665
Al 285
WM HsEE=S 15,848 13,746 2,102
= 12,678
= 2,219
Al 951
04 SR (RIH )22 BEE=RES S 15,848 13,746 2,102
OZRx 22X BE2RL3
15,848,000 15,848
[ 12,678
= 2,219
Al 951
=0 2elAt Q1] XIR (XHAI) 26,401 28,663 N2,262
101 ©1AH| 26,401 28,663 N2,262
03 SR (RIH )22 U2+ 26,401 28,663 N2,262
OldzsWCIAL JI=s
616,000& x2H «12& 14,784
O2eg80 At =¢ 11,617
-HESIS( A=K, 1453/1258)
(3,570,570 198 )+(3,507, 32024+ 1) 7,078
-EsY 40,0002 x1&* 122 480
-H¥z2Z2sg 56,1003 =2 * 122 1,347
REPNETE= W) S
14,1202 2 +BA| 2+ 12 2,712
SEIAtAIZtEIAL 2I2H] X1 (SEALI2E] RI1H 2 90,901 126,872 135,971
2%+ el2l)
[ 35,772
Al 55,129
101 e124d| 80,901 116,872 A35,971
= 32,589
Al 48,312
03 SR (RINHA) 222+ 80,901 116,872 A35,971
OSE At 22l AL 2124H1(32) 80,901
-JlZ2s 65,178
2A=X2, 1323
2,848,520« 1H 122 34,183
[ 17,092
Al 17,091
- BAH=EX2, 255/38=
(2,558,600« 1813 )+(2,585, 0402« 1& *11
g) 30,9%




SH: =XRH
M HYRAZH(SXFHL)
CHel: QIAR2AH|(SXIF D) (S &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
= 15,497
Al 15,498
IR LY 4,680
2ASX2, 18323
20, 45021+ 1Z* 10A| 2+ 122 2,454
BARKR, 252/35E
(18,3802 * 12 x10AI2H+ 12 )+(18, 5602 x 1 & *
10A1RE11) 2,226
AR RERIEY 2,497
BA=K2, 1352
13,6302 x 1 x8A[ 2+ 12 1,309
- B2A=X2, 2538/352
12,3703 1 +BAI 2hx 12 1,188
-FESOI 6,506
2A=X2, 1328
3,418,230& %1 3,419
- BAH=X2, 2538/353
(2,558,690 +60%)+(2,585, 04021 560%) 3,087
OiELy
(140,00024%128 122 )+(30, 0002 * 12+ 128)
2,040
M HA=RE=SS 10,000 10,000 0
= 3,183
Al 6,817
04 SR (RIH 22N BEE=RES S 10,000 10,000 0
O=Ege=RE=s S 10,000,000& 10,000
[ 3,183
Al 6,817
FetssdE o128 X 98,000 92,000 6,000
& 49,000
Al 49,000
101 @124H| 76,255 75,556 699
= 38,127
Al 38,128
0B SPA(PIHL) 22X+ 76,255 75,556 699
ORstEsdH 28 224H1(2°8) 66,880
-Jl2s 61,573
- BASIN, 11e8/1288
(2,555,200 15«53 )+(2,580, 0002« 1 +7
) 30,836
& 15,418
Al 15,418
- BA=IN, 1E8/1288
(2,555,200 18 +97 )+(2,580, 0002 123
4) 30,737
= 15,369




A SXNEH
M HYRAZH(SXFHL)
S ol | (=A™ G
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,368
—HEI22E 5,307
BAEI, 1E88/1283
(18,350 1Y *12A1 2H+53 )+(18, 530 » 1H*
12A1278) 2,658
S 1,329
Al 1,329
A=, 11s38/1283
(18 3502+ 18 #1241 2093 ) (18,5302 x 1B
12A12t+32) 2,649
= 1,324
Al 1,325
ORIZFAtAI 22| AL = (2H) 9,375
-HESIHI(BH=I, 1&8S/1288)
(2,555, 2002 «60%+22 )+(2,580, 0002 x60%+2% )
6,163
= 3,081
Al 3,082
-AXRSFIFS(2A=TN, 1283)
12,3502 x2S #BAl 2t 122 2,372
s 1,186
Al 1,186
-bESE 70,0003 18 * 122 840
= 420
Al 420
M A=FESS 21,745 16,444 5,301
= 10,873
Al 10,872
04 SR (RIH )22 BEE=RES S 21,745 16,444 5,301
OH822Y2 ¥ SXN3 S
21,745,000 21,745
< 10,873
Al 10,872




